€1°60¥/0d

B10

PC5 Series

Pilot Operated Solenoid Valve
Rubber Seal/Sub-base Mounting Type
PCS245
2-position, single solenoid
PCD245
2-position, double solenoid
PCD345
3-position, closed center

PCE345

3-position, ABR connect
PCO345

3-position, PAB connect
PCL245 (Latch type)
2-position, latching solenoid

Specificiations(Standard)

Model No. Unit | PCS245 | PCD245 | PCD345 | PCE345 | PC0O345
Fluid Non-lubricated/lubricated air
Port size M5, RC%

. 7(0.2): M 2.2(0.12): M
Effective area mm? f (o.(gz):) RC?/’B 2.5(2)914)? Rcﬁk1
Operating ambient temperature °C -5~50
Minimum operating pressure MPa 0.15 ‘ 0.1 ‘ 0.15
Pressure range MPa 0.2~0.8
Maximum frequency cycle/min AC:900 DC:1200(L type) 900(SP type)

ON 0.016 0.012 0.012
L type
De OFF 0.020 — 0.022
SP type ON 0.016 0.012 0.012
Response OFF s 0.03 — 0.04
time AC 50Hz ON 0.014 0.008 0.008
L OFF 0.037 — 0.047
SP 60Hz ON 0.014 0.008 0.008
OFF 0.03 — 0.04
Rated voltage \ AC/110,220 DC24
Permission voltage fluctuation % AC+10 DC+10, -15
Rated frequency Hz 50/60
’ 50Hz VA 2.5 (110/220)
Holding
Power AC 60Hz VA 2.0 (110/220)
consumption Inlush 50Hz VA 2.9 (110/220)
60Hz VA 2.5 (110/220)
Power consumption W 1.8
Grade of insulation JIS grade B
Wiring Lead wire (L), connetor with Lead wire (SP)
NB 62 94 103
L type M5 106 138 147
Mass RC% . 118 150 159
NB 62 94 103
SP type | M5 106 138 147
RC% 118 150 159

Note: Supply complete-dry air to avoid freezing when temperature of valve site falls below 5°C

@ FONTAL



Representation PC5

| PCS245 | |—(M5]|—(D24|SP LB

Model No.
No mark: Standard
P(?fifS (Non locking) @
i *LB : With locking button S
O
@il =
O
L : Lead wire o
PCD245 SP: Connector with lead wire
(A) (B)
24
Voltage
®17 bR 110: AC110V
220: AC220V
PCD345 D24: DC24V
(A)2 ‘(B) Hg
M5 : M5x0.8
@17k r2) 01:RC%
NB : Without sub-base
PCE345
(A A(B)

ﬁmm Special specifications

T No mark : Standard (Individual exhaust of pilot)
(ROERD U  :External pilot (Valve body ported) Individual exhaust of pilot

PCO345

(A) (B)
24

% Made to order

i

315
(R1)(P)(R2)

@ FONTAL B11



€1'60d/0d

B12

PCS245

Main Components

No. Description Material
1 Body Aluminium alloy
2 Spool assembly —
3 Piston D Synthetic resin
4 Piston S Synthetic resin
5 Manual override Synthetic resin
6 End cover Synthetic resin
7 Pilot valve —
8 Return spring S Stainless steel
9 Return spring 3P Stainless steel
10 Spring retainer Synthetic resin
11 Sub-base Alluminium die-casting
12 Base gasket NBR

@ FONTAL




PCD245
1 pop A

[3p]
3
O
-
[
o

PCD345, PCE345, PCO345

A ]
I |

Optional Parts and Spare parts

Connector with lead wire
PC5 - D24 - CL5

110: AC110V CL5 : 500mm (standard)
220: AC220V  CL10: 1000mm
D24: DC24V CL20: 2000mm

CL30: 3000mm

CL50: 5000mm

Sub-base
PC5 - SB5 - M5
o &
3: 3-port M5: M5%0.8
5: 5-port 01: RC%

@ FONTAL B13



PC5

Dimensions

PCS245:-M5 ‘Unit: mm=

5i6
Y 4 2 4
Q T %3_ _I‘;
19
5 N I s
e R
@
el
-
36
6 24 2-¢36
Manual override
-4
oy e
1 | 15 | Q}L 4t
! 23 50.5
135
437
L Type
300
i ruL——"-g
= 7
445
N4 I t 19
s A s
|§0.5 110.55 1 T
5-M5X0.8
36

B14

port X
M5X0.8

47

@ FONTAL



Dimensions

PCS245:% -01 (Unit: mm)
16
) 2 4 4 port X )
?5—— () (\ ? M5X0.8 ‘L;”
) = EEra)3] o
B! L2 51 U Type E
A olom[lTo

4 35 2-¢3.6

Manual override
3 _t:m?é @%} ]/
v | ol | =t
\ l‘f ololo [l N Wl

23 50.5 23 60
73.5 83 6|, 500
43.7
L Type
-1
390

+

= 50.5 T
[ 1/ A\ | L/ }\_ 1
oY A LT N o
SO O | Y | N |
SRl %5 e 1 f
SRk A 1

@ FONTAL B15



Dimensions

PCD2453-M5

(Unit: mm)

2
i
—T n
o
O
N

o
o * i
X -
O
o ] N
© , N
36 port X
6 24 2-93.6 M5X0.8

Manual override

Tl 1=
216;21[;'5 '64}' —@EH‘% Wﬁ%gﬁ imuwpe

J N
L T | I
f 50.5 50.5
101
43.7 43.7 . LType
300
N A4,
i !
44.5
© ;
> | e e |
1305 %0.5_|5 P
5-M5X0.8 -
- 36
T | % él“ ] 7
25 0 50— 2
1 T
60 60
500 |6 120 6| 500
T SP Type

& | & i

B16 @ FONTAL



Dimensions

PCD245 3 -01

(Unit: mm)

16
2 4 4
T Tl 1
N
_t
4
o I d
43
4 35 2-43.6
Manual override
f I [ ]
-
32 285 ' ¥ U Type
Iy ==
505 505
101
437 437 ' L Type
I
300
d , 2
kil
t 505
___/f> Voo
M
£>’ U1 8 “1'5 l
P53 !
5-Rclé - .
- —_— 2
60 J
6], 500
=
SP Type
L/ A\
z {} $ 30l 1
@ FONTAL

B17

[3p]
3
O
-
[
o




Dimensions

€1°60¥/0d

PCD345-M5, PCE3453-M5, PCO3453%-M5 (Unit: mm)
56
T L 2 4 }
6.5 12
7 ﬂﬁ T
4 _ N :
T T
‘——_36_- port X
S 24 | 2438 M5X0.8
I Manual override
.€
2% zl.s i ) _@T} & ® ﬁvﬂ-im-ﬂl U Type
s —i&y ; ;
585 505
109
51.7 431
L Type
-
300
2h -+ -+ 2
dr
445
$ _¢__L 13 19
65 1
hellos® | !
5-M5X0.8
— 6
2 & .
— r+
i 1o $D@|l { “;y—L
— "7
68 60
500 |G 128 6| 500

aallhs T

B18 @ FONTAL



Dimensions

PCD345 -01, PCE345¢-01, PCO3453% -01 (Unit: mm)
16
2 4 Yy
i DO 8
g VINZ | T Q
7o)
(@)
N x
I | o
T T o
43
4 35 2-¢3.6 5122;(3
Manual override
17 ’ ST O] O 7]
332 I A
28.516 5 _li g - U Type
“ [ oo =il =)
58.5 50.5
109
51.7 437
L Type
-1
300
R 2
i 1
50.5
EyZN- [
DYl B
O T |
5ok 335 0350 | |
e 43
(o ]
1= ] | a
L J | I E=F
(] D0
68 60
500 J6 128 6| 500
T SP Type
6% 1

@ FONTAL B19



